MATH 201: Calculus and Analytic Geometry III
Fall 2016-2017, Exam 1, Duration: 60 min.

Recitation T. 11

Section 9
MWF 11, Yamani
Recitation F. 2

Section 13
MWEF 2, Nahlus
Recitation M. 9

Section 17
MWF 9, Makdisi
Recitation Th. 9:30

Section 21
MWEF 1, Karam
Recitation F. 10

Section 25
MWF 10, AbiKhuzam
Recitation F. 4

Section 29
MWF 11, Aoun
Recitation Th. 3:30

INSTRUCTIONS:

Recitation T. 12:30

Section 10
MWF 11, Yamani
Recitation F 3

Section 14
MWEF 2, Nahlus
Recitation M. 1

Section 18
MWF 9, Makdisi
Recitation Th. 2

Section 22
MWEF 1, Karam
Recitation F. 9

Section 26
MWF 10, AbiKhuzam
Recitation F. 2

Section 30
MWF 11, Aoun
Recitation Th. 2

Recitation T. 2

Section 11
MWF 11, Yamani
Recitation F. 4

Section 15
MWF 2, Nahlus
Recitation M. 10

Section 19
MWF 9, Makdisi
Recitation Th. 8

Section 23
MWF 1, Karam
Recitation F. 12

Section 27
MWF 10, AbiKhuzam
Recitation F 3

Section 31
MWF 11, Aoun
Recitation Th. 5

(a) Explain your answers precisely and clearly to ensure full credit.
(b) Closed book. No notes. No calculators. No cellphones.

Problem 1 2 3 4 5 Total
Points 20 28 22 20 10 100
Scores
Name: Cﬁr ceCA oA AUB ID:
Please circle your section:
Section 1 Section 2 Section 3 Section 4
MWF 3, Nahlus MWF 3, Nahlus MWF 3, Nahlus MWEF 3, Nahlus
Recitation F. 11 Recitation F. 10 Recitation F. 8 Recitation F. 9
Section 5 Section 6 Section 7 Section 8
MWEF 10, Shayya MWEF 10, Shayya MWF 10, Shayya MWF 10, Shayya

Recitation T. 5

Section 12

- MWF 11, Yamani

Recitation F. 5

Section 16

- MWEF 2, Nahlus

Recitation M. 8

Section 20
MWF 9, Makdisi
Recitation Th. 5

Section 24
MWF 1, Karam
Recitation F. 8

Section 28
MWF 10, AbiKhuzan
Recitation F. 1

Section 32
MWF 11, Aoun
Recitation Th. 12:3(

(c) UNLESS CLEARLY SPECIFIED OTHERWISE, THE BACKSIDE
OF THE PAGES WILL NOT BE GRADED,
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Problem 1
(5 pts each)Which of the following sequences converge, and which diverge? Find
the limit of each convergent sequence.
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Problem 2
(7 pts each) Which of the following series converge, and which diverge?

Find the sum of the series when possible.
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Problem 3
(a)(14 pts) Find the interval of convergence of the power series

2 1
(-1

(Remember to check the endpoints.)

Lole My as Zan win NG Chew) 20

LC\@@Q e oo busr A Z\%\ L M Moy et

wef\eg Séc ae well

50 CQ\U\&V\ / "@f o Coo) "{'{ﬁ‘ Ve "

e

\
s

s

N—

g:’ \W\ \Q\i\*r \\
Tl
. \3\,\,\ @‘\’ ’\}/\H &V\T\-\- \\’ zf\

P L

(Q\H‘\ u i (v VN
L A L

= \J\N\ V\’L}(‘

SR . J(L
o fi) e T g
LA On \U’g\ L'};\L : ":;p:vl ;

o '1 \-e!\;t \ \ p
“ Rt | %‘fﬁf’fi}?‘\“ Kt ?’4’\ AR i)
\ ¢
i ) ’\\42\/ e

. | SO b
Ao , Ny \ 3

‘ ‘;‘ L""h\. >< =

T

= e Z W3
’/‘:}"‘ J <IN ¢ \j b@ n=\ \ X ‘ZQ\
Lv\'\/(/\ Xﬁ ":g wr '\ -‘X(/\L ’\F"SQJ\\\C; g\("
=L Lt Gl L
IR L S
SV LR [SY&

"“i_j;f O\\Qf\z)"fb‘ \,I i\Y\LH CD/\M}Q( <b[ Yie "\H’(f‘@;ub
s ¢

So Moe st 6 e by, Ty
20 T A 130\
i‘ ! B i \Igl . \\



) For x = 0.6, use the alternating series estimation theorem (ASET) to

(b) (8 pts
approximate the sum of the series in part (a) with an error of magnitude no greater
than 102, (Make sure to justify why the conditions for ASET are satisfied.)
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Problem 4

(10 pts each) For each of the following series, find the " partial sum s,. Then
decide if the series converges or diverges. Find the sum of the series when possible.
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Problem 5
[ee)
(10 pts) Given a series >.a, of positive terms, and {s,} its sequence of partial
n=1
sums. No direct information about the n"term a, or partial sum s, is given. But
instead we are given that

; 2
lim a,”.s,=5.
n—>

Prove that > a, diverges.

n=1
(Hint: start by assuming the series converges, and see what you may conclude.)
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